24 AL = lo AT

Ag
Ok g Ay AT
QV‘X Va AT
A= bAX|0 3 &— L



Caaml
= (2k)(333,000 )

G m Crinse- (0%
= () (1186 ) (25°¢
Rz Qv+rQa+@y=39014 T









P> 160.1 Mus (oxked
| A

. oo
IXIO’H':.

iOOIXIO‘H;
< a 4‘]704 \¥



B WA
theents = 0. b= 0. 0062m

Aa lax)l\\?. ahl
DT= 30°c

P" kgl-u A AT

€,

\.)) foSh, het ?’"' %
Q= P u)E ()




0 LS(, /‘m) 4+ N WA

lm -

— Iﬂl{o\ ok A3 B Y.V,

‘é\l 0+a (-2 r)(-:r 3)

= = 33.£C s
Pd*BV& IS e~
Vog = Via = —33.SS f\l.r
ViIg=0 Ax k=92~



\"'1 V»‘h)a QAx

o \/9 -Vo _ 0 ("'2‘3 S"F)
3 0.0092s
= ASLO ~igx ™
{x = (-33.555)(.0092) :
' +—L(;1_<40.p)( 06‘0.:)
=-0.108 ~







